2.NBT.A.2: Counts within 1000; skip-count by 5s, 10s, and 100s.

Count by 5s to fill in the missing numbers in the table.

S 20
35 50
05

100

Finish these number patterns by counting 5s.

) 351 )
) 651
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Answer Key

2.NBT.A.2: Counts within 1000; skip-count by 5s, 10s, and 100s.

Count by 5s to fill in the missing numbers in the table.

o 10 15 20 25
30 35 40 45 50
55 60 65 70 75
80 85 90 95 100

Finish these number patterns by counting 5s.

20, 25, 30, 35, 40, 45

45, 50, 55, 60, 65, 70
69, 70, 75, 80, 85, 90

©Copyright. All rights reserved to Tutorified.com



